Name____________________________________________Period___________Date_____________________

	Verbal Rule

The output is one more than half the input.
_________________(output) depends on 

_________________(input).

	Equation (Function Rule)
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Independent Variable:_________________________

Dependent Variable: __________________________

	Table

Input

Process
Output

-6
-2
0
4
8
What will the input be when the output is 13?___________

What will the output be when the input is -12?__________
When choosing your input values:

· Choose easy numbers (fits on graph, output will be integers…)


	Graph
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	Verbal Rule

_________________(output) depends on 

_________________(input).

	Equation (Function Rule)
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Independent Variable:_________________________

Dependent Variable: __________________________

	Table

Input

Process

Output

-6
-1
0
2
4
What is the input when the output is -16?_______________

What is the output when the input is 18?_______________

When choosing your input values:

· Choose easy numbers (fits on graph, output will be integers…)
	Graph
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Four Quadrant Model of a Function

Verbal Description:





Write an equation:














“n” is ___________________________________





 



“A” is _________________________________










Equation:  _______________________

Table:







Graph:  
(Be sure to title the graph and label both axes)































































































a)  How much money will Trent have left in his lunch

a)  How many times will Trent buy his lunch if he has 


     account if he buys his lunch 3 times this month?                            $0.50 left in his account?

     _______________
 




  _________________

b)  How much money will Trent have left in his lunch

     account if he buys his lunch 7 times this month?

    ________________

Do these answers make sense?   Why or why not?  














Four Quadrant Model of a Function

Verbal Description:





Write an equation:














“m” is ____________________________________





 



“G” is ____________________________________










Equation:  ______________________

Table:







Graph:  

(Be sure to title the graph and label both axes)
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Trent has $20.00 in his school lunch account.  He spends $3.25 on lunch each day.





Independent Variable:  ___________________





Dependent Variable:  ____________________
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n





        1       2      3      4      5       6      7      8       9    10


                     





Adrian has 18 video games.  He is going to buy 3 games each month.





Independent Variable:  ___________________





Dependent Variable:  ____________________
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How many months will it take Adrian to buy 42 video games?





____________________





How many video games will Adrian have after 14 months?





________________________
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